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Problem: VRP_with Time Windows

num,laces L num,laces—1 num,chicles—1

min z z Z distances; ;- x; ;. + 10 - slackl + 10 - slack2
=) 30 k=0
s.t.
finish time arrivaliine; ;. + workdme; < slack2 + 1050 i€ {0,...,numplaces -
num laces 1
leave depot Z Tdepot,ji = 1 ke {0,..
=0
numglaces—1 numylaces—1
no_warp Z ik — E Tk =0 vj € {0,...,numglaces -
=0 0
num Jaces 1
return_depot z i depot ke = 1 vk € {0,..
=)
start_time arrivalyime jepor x > 525 vk € {0,.
time_window_end arrivalime; < timeyindows;) + slackl Wi € {0,..., numpylaces -
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[6]: import jijmodeling as jm BrY s F AR

# Placeholder (/\ZX—2%)DEE

N = jm.Placeholder("N", description="Number of customers")
= jm.Placeholder("K", description="Number of workers")
D = jm.Placeholder("D", description="Number of days")
C = jm.Placeholder("C", ndim=2, description="Travel time matrix between locations")
S = jm.Placeholder("S", ndim=1, descriptien="Service time at each location”)

Twtask = jm.Placeholder("TWtask", ndim=3, description="Time windows for tasks (start and end tuples)"}
Twworker = jm.Placeholder("TWworker", ndim=2, description="Time window for workers (start and end tuples)")
M = jm.Placeholder("M", description="Large number")

# Element (7>7vwIX) DEH

i = jm.Element("i", belong_to=(@, N), description="Index of locations")
j = jm.Element( belong_to=(@, N), description="Index of locations")
k = jm.Element( belong_to=K, description="Index of workers")

d = jm.Element("d", belong_to=D, description="Index of days")

# REEMOER

x = jm.BinaryVar("x", shape=(N, N, D, K), description="Binary variable indicating movement from i to j on day d by worker k")
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